e A€,

H ofM344H 1H
£ SF44E3H31H

(7 M)
= H THEER
I — R ERRY PEHE IR O
1. FRH Bk
(1) B IS
N4> 15
E2BEASE 10
BB ASE 5
ShEt 6,370
Eifzey g 3,770
BN NS 2,590
Bt 10
FENLE 22,911
fi i AR 17,761
R K H AR 4,900
X E5E B 250
A 1,000
T4 1,000
HEIT 2% 320
HEU 2% 320
R AR 71 30,616
(2) & # H
O F=EE
REFE 21,260
N# 2,750
ENiIES 1,890
BAE R 1,145
Mt 544
FtE 4,770
ik A 190
B 1
i N2 950
T 1,100
ERIN Y 230
AU 130
e 33
Eat ¢ 80
B iR 872
Es 2 4,775
U — 2k 1,120
HFEAL 230
FHEE 350
ERLEAY 50
FIRBE 1,375
N2 600
Il 2 90
Mt 35
WHEE 350
T4 300
s NS 2,881
N2 500
Il 2 100
i 1
IR 450
Mt 150
iR 570
HAE TERE 70
Tt 150




PN 10
Bz mE 280
EEE 600
FREH TR 20
B 1E E 5
i GG 15
BARER FE 230
I ¢ 10
3D 220
N 38
il EE 38
S ExPREEE 52
il EE 42
B 10
AHe 183
BRI A A A 183
FELRLE 26,039
© EHE
N2 750
Tt 1,980
DB 180
i G L 200
BAE ERE 170
i i & 10
THFEAL 10
FI il B A 2 120
B 363
FFLAGR 290
M 140
TEHE GG 4,213
@ T 0
RE MG 30,252
RS H IR 364
2. FEH MBS
(1) #E MR
R AMaE 2T 0
) RS EH
S L 0
YRR S ERG T 0
44— i IE B P R 364
— B E R PERA AR 27,763
— B E R PE A TR 28,127
I 5 IE M PESE Ik D
] FE I R S P e 0
FREIEBRM PERI AR TR 5 0
FREIEBR PEY B 7% e 0
M EBR PEM R 7R = 28,127




